Statistics 31, Section 1, Homework # 13
Due:  Thursday, April 28, 2005
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10.20    and add part:

(f)  Calculate a 95% Confidence Interval for the mean oxygen uptake of individuals having heart rate 96,  and heart rate 115.

(a.  Unusual points at lower heart rates, with greater variation in VO2,    b.  slope est. = 0.0387  int. est. = 2.804,    c.  1.0004E-11,  so very strong evidence of non-zero slope,    d.  for 96, [0.640,1.17], for 115, [1.38,1.90],    e.  No, since there is substantial error about the fit line.    f.  for 96, [0.826,0.987], for 115, [1.57,1.71]).
1
2

